Example 1 Determine Imperial Distances

The photograph shows a polar bear near Churchill, MB. The scale
of the photograph is 1:24.

._"".'

a) Calculate the height of the bear’s back, to the nearest inch.
b) What is the length of the bear? State your answer in feet and
whole inches.

Example 2 Apply Linear Measurement

The Carsons want to buy a 32” television. The size of a television
is measured across the screen diagonally. They are choosing

between a standard 4:3 television set and a widescreen 16:9 HDTV.

To help them decide, calculate the screen dimensions and the
viewing area for each television. Which television has the greater
viewing area?

Example 3 Solve a Problem Using Imperial Measurements

Alashun wants to make a drum, or gilaut, that resembles the one

used by a drum dancer in Igaluit, NU. He has a circular frame, over
which to stretch caribou skin. Then, he will lash it into place along the
frame with sinew. Alashun uses 3 %z in. of sinew for each inch of the

frame.

a) Estimate the diameter of the drum frame in imperial units. The

scale of the photo is 1 : 15.
b) Approximately what length of sinew does Alashun need to
make the drum? State your answer in yards and inches.
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